Content : Q(i)

Source : B(i)
Category : K(i)
Data Purpose : P(i)
Item
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Allowed purpose of i, D(i), in SOR is P(i)
intersected with Y(n) if K(i) is subset of
G(n) and B(i) is subset of S(n) otherwise it

is NULL \
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SORN : N(s)

Owner/Creator : C(s)

Routine Use

Notices (e)

~

-~

- -

Authorizations of Creator : H(c)
Source : S(n)

Category :G(n)
Purpose : Y(n)

Recipient : O(e)
Category : X(e)
Purpose : U(e)

Content : Q(i)

Source : s
Category : K(i)
Data Purpose : P(i)
Item
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Allowed purpose, P(i), of i being
sent to recipient, r, is D(i)
intersected with U(e) where
O(e)=r, and K(i) in X(e)



